10/22/2024 2:03 PM Marilyn Burgess - District Clerk Harris County Envelope No. 93436140 By: KATINA WILLIAMS Filed: 10/22/2024 2:03 PM

# ATTORNEY HOURS TO SUPPORT DEFAULT JUDGMENT

# WAYMAN L. PRINCE, CHFC, CLU, FLMI

ATTORNEY AT LAW

9111 Katy Freeway, Suite 301

Houston, Texas 77024

TELEPHONE: (713) 467-1659

FAX: (713) 467-1686

E-mail: wayman@wlplaw.com

# "A MEMBER OF THE BETTER BUSINESS BUREAU"

October 22, 2024

To: Mr. Hamayun Jan Durrani 10202 Forum Park Drive Apt. # 26 Houston, Texas Via Email: hdurrani2020@gmail.com10202

## CAUSE NO: 2024-31145

IN THE MATTER OF HAMAYUN JAN DURRANI, PLAINTIFE S. RAMESH KAPUR AND BLUETEX, LLC, JOINTLY AND SEVERALLY IN THE DESTRICT COURT, 152ND JUDICIAL COURT, HARRIS COUNTY, TEXAS

**INVOICE TOTAL OF \$25,000.00** (50 Billable Hours)

(a) Date	(b) Legal service	(c) Hourly	(d) Hours	(e)Total Due and Owing
4/15/2024	Meeting with the client to discuss the Breach of Contract Issues, Gather relevant facts, and review the contract terms Preparing a case file and summarizing the key elements of the Client's case.	\$500/Hr.	6/Hr.	\$3,000.00
4/17/2024	Preparing a Formal Demand Letter to the opposing party outlining the Breach requested remedy and providing a timeline for Response.	\$500/Hr.	3/Hrs.	\$1,500.00
4/19/2024 Through 5/13/2024	Corresponding regarding the above matter and gathering all additional documentation /Reviewing all documentation submitted by Durrani	\$500/Hr.	4/Hrs.	\$2,000.00
5/14/2024 Through 8/21/24	Prafting the Original Petition for Breach of Contract, including claims and relief sought/ Filing the petition with the District Court filed on 8/12/24	\$500/Hr.	5/Hrs.	\$2,500.00
TOTAL HOURS FOR PAGE #1			18/Hrs.	\$9,000.00

	Preparing exhibits, evidence,		6/Hrs.	#3 000 00
4/15/24	and client testimony for	· · · · · · · · · · · · · · · · · · ·		\$3,000.00
Through	hearings/Attending hearings to			
	represent or support the case, including any preliminary or			
10/18/24	motion hearings.			
5/14/24	Communicating with the			
	Court to schedule Hearings,			7
Through	Trial dates, and confirm	\$500/Hr.	5/Hrs.	# <b>3</b> 500 00
10/18/24	attendance/ Submitting any			\$2,500.00
	necessary documents to the			
	court in compliance with			
	procedural rules.			
5/14/24	Regularly updating the Client	\$500/Hr.	3/Hrs.	\$1,500.00
Through	on the progress of the case, next steps, and any legal	التار/00جود	S Titilg.	ψx,000.00
10/18/24	developments/responding to			
-, <del>-</del> -	Client inquiries and providing			
	clarifications on legal			
	procedure			
8/14/24	Gathering information for	5		42 500 00
Through	Default, Drafting all elements	\$500/Hr.	7/Hrs.	\$3,500.00
_	of the Default,		One hour a day	
8/21/24	Executing/Filing the Default with Court	<b>V</b>	for seven (7) days	
	with Court	<b>&gt;</b>		
8/14/24	Chile contesting a magning of the C	\$500/Hr.	2/Hrs.	\$1,00.00
Through	Submitting request and Confirming Non-Military	\$300/TII.	One hour a day	Ψ1,00.00
8/21/24	Affidavit for Default		for two (2) days	
3,21,2,	Judgment		191 till 9 (11) till 9	
	Correspondence with Client			
877.170:4:	on Hearing for Default	\$500/Hr.		\$1,00.00
8/21/24	Judgment		2/Hrs.	
	Sending Correspondence to			
9/20/24	Defendant on Hearing/September hearing			
	reset to October 18, 2024			
	2024 10, 2024			
^ <				
10/19/24	Hearing for Default	\$500/Hr.	4/Hrs.	\$2,000.00
10/18/24	preparation and Attendance			
SUBTOTAL	,		90/IT	C14 500 00
HOURS FOR			29/Hrs.	\$14,500.00
PAGE #2				
I AGE #4				

5/14/24 Through 10/18/24	Organizing and Managing the case file, including maintaining electronic and physical records of all documents, correspondence, and evidence.	\$500/Hr.	3/Hrs.	\$1,500.00
SUBTOTAL HOURS FOR PAGE #3		\$500/Hr.	3/Hrs.	\$1,000.00
TOTAL DUE AND OWING		\$500/HR.	FIFTY (50) BILLABLE HOURS	\$25,000.00

Wayman L. Prince /s/

Wayman L. Prince, Attorney at Law

## **Automated Certificate of eService**

This automated certificate of service was created by the efiling system. The filer served this document via email generated by the efiling system on the date and to the persons listed below. The rules governing certificates of service have not changed. Filers must still provide a certificate of service that complies with all applicable rules.

Wayman Prince on behalf of Wayman Prince

Bar No. 16329350 Wayman@wlplaw.com

Envelope ID: 93436140

Filing Code Description: No Fee Documents

Filing Description: No Fee Documents Status as of 10/22/2024 3:13 PM CST

### **Case Contacts**

Name	BarNumber	Email	TimestampSubmitted	Status
RAMESH KAPUR		kapurhouston@yahoo.com	10/22/2024 2:03:53 PM	SENT